TNPSC Group I Prelim Test - 11
Environment & Ecology
12th Zoology & Botany

1. Organisms which can survive a wide range of temperature are called
a. Ectotherms b. Eurytherms c. Endotherms d. Stenotherms
GeuliupBlensouiled gMUGBLD TBILUTHSEM6NSH HTHIF  UTIHLD e fleVmIGH6NT
6160 SIS SBLILI(HLD
a. a1&8LTOHTLDS 6T b. WemasGai Caupum’ G 2 ulflser
C. eIWIBLTOSHTDSH6IT d. ereBaimesibsel

2. Match the following:

Column I Column II
A. Mutalism 1. Lion and deer
B. Commensalism 2. Round worm and man
C. Parasitism 3. Birds compete with squirrels for nuts
D. Competition 4. Sea anemone on hermit crab
E. Predation 5. Bernacles attached to Whales.
A B C D E
a. 4 5 2 3 1
b. 3 1 4 2 5
C. 2 3 1 5 4
d 5 4 2 3 1
QUT(HHHISH:

A. uSThg uTIPLD UITIDSHENS 1. fMisD WBHID LOT6sT
B. 2 gel GQumId aumbdHens 2. 2 (HeweTUL|(L) LOMBMILD LO6M SH6sT

C. @l Hewienll aumboHamnsd 3. LIB6MAIB@THLD &|601160B(GTHLD
o eurelB&GUGUTL19ui(HHev

D. Gumly eumpsbens 4. sL60 NGO OBBID HiBe] Hewi(H

E. OQaremiemient eumphend 5. LIBEN6USH@THLD LITEVITL 19 & (6THLD aleng

LTeSHVIBE 2 FH6|H6e0
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3. The association between Rhizobium and roots of leguminous plant is

a. Parasitism b. Symbiosis

c. Commensalism d. Predation

aJCamiwib urseflwralB@ld Gevanld HTaugmiseier ColTsensEd Seml Guiuimer
QHTLITL

a. @ [Bewrenf b. gl Huif

c. & gal QuUEID eITPEHMmS d. Qsrey HST@ID TSNS

4. Presence of plants arranged into well-defined vertical layers depending on
their height can be seen best in:
a. Tropical rain forest b. Grassland

c. Temperate forest d. Tropical Savannah

SHTAUJRISET DGl W o WTSHHBCHBU CFmIGHHTE eueTFd SlmLHI(HLILGS
aIFHle0 STl ILIBGSIBSHI?

a. QauIl DEWTL60d  HTHESGI b. yevGeueiamerr

c. 0% Geuiu 6w 60d SHTBHH6N d. Geuliu wewiev LevGeuefdelt

5. Soil particles determines its

a. Texture b. Field capacity

c. Water holding capacity d. Soil flora

LDGWT FHIH6NTH6T TeNHS  HITLOT6HN &5 eT3601?

a. LD6WT SIMLOLIL b. Pevd FHmest

C. BT HTBIGID Hmedt d. wewienfiled o 66 HTEUTBIB6I

6. An association of individuals of different species living in the same habitat
and having functional interaction is:
a. Biotic community b. Ecosystem

c. Population d. Ecological niche

Copi' L Apptleomsmend  Gaibed o ulfles anlLiores @6rm  aumdl &%l6e0
audlHg GFwedblensy FTL EewLaleneidmend OB (HHSHTE0, DIF

a. 2 ulflw FupsHruib b. &Blenev DGR 6VLD

C. ®edBanl LD d. &Pmens FpeumH b

7. Which one of the following is not coming under insitu conservation
a. Sanctuaries b. Natural parks
c. Zoological park d. Biosphere reserve
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LedTeu(hHeueToummled 61&hl G602 6l LTHISTLIL 6UnSHMW FTTHHH DI6V6V.
a. L6V mIb6IT b. Gxdw L mIBTHSH6N
C. ATGUBIAUIE) L BIBTHDH6IT d. 2 ulréBasmen &TUiLLb

8.  Which of the following forests is known as the lungs of the planet earth?

a. Tundra forest b. Rain forest of north east India

c. Taiga forest d. Amazon rain forest

eteuhd LGFHHeled 61 LLsGasmeaier mHienguired elenr SSLILILIGSBE?
a. @eeow AT BTHBH6I b. au_&pdE bl mPSBTHSH6I
C. aaFlulemeudoT(Hame6l d. oGwsamer &THH6I

9.  Which one of the following are at high risk extinction due to habitat
destruction

a. Mammals b. Birds c. Amphibians d. Echinoderms
amfL  Frhalemed e sEevOWTT UTHIUSEHSHEG L 6ienTd  Suflub
Blemeoulled o eitem ailevmidslenid?

a. LIMGUITL 19 &61T b. uBeimeiT c. Bmaumpaiset d. ol Bxpmeflser

10. Kaziranga national park is famous for

a. tiger b. musk deer c. elephant d. rhinoceros
s1FarmsT CHAwll yrst as5BE& Usheubms?

a. el b. sevgmiiomest

C. WITeneut d. smewi_mimasid

11. Lions are found in

a. Carbett national park b. Madhya Pradesh

c. Gir forest d. Western ghats

Frismiset omiGs et ILI(ha a6t ?

a. smeu’. CapAwr ywhisT b. wsHu FBsaid

c. & HMbHeb6i d. GuoB@ QFHTLIFS DeMevBaI

12.  Chipko movement is concerned with
a. forest conservation
b. plant breeding
c. conservation of natural resources
d. project tiger
FUBxsT QuISHLD IHIL 6T OIHTL LML Wi!?
a. SMhBHMEN LTHISTULSHBEG b. smeuys  @evriL
C. QUIBENS CLPEOTHTTHRIGBEM6N  LITHISHTHFH60 d. yad urgIBTILG S LD

13. Wildlife is destroyed most by
a. lack of proper care
b. mass scale hunting
c. destruction of natural habitats
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14.

15.

16.

17.

18.

19.

d. natural calamity

AUTATUMIGHH6T GTHETTED DHBID DIPSHBILBHBSHI?

a. gflwre ugmoféasliul LTgSHTe0 b. 9185 oemalsd Goul edLWTHH60
c. Bubenad aumfmiseT fdsiuGsed d. Subens Guyie

Breeding place of flamingo in India is

a. Sambhar lake b. Chilka lake

c. Runn of kutch d. Ghana vihar
CSemimBar upeneuulet GeICUmSEL LGS ShIHwmaled e61gl?
a. gmbun e b. devar gl

C. sl & udulet yesr d. smem el

New approach to conservation is the establishment of

a. sanctuaries b. biosphere reserves
c. national parks d. reserve forests
uTgIsTUILIBET UHW o5& IS0 FTHHWIDTGLD?

a. FJemTTEOULIRIGHET b. 2 uli@smen @iy
c. Bxpdwl L BIBTHDH6NT d. &miy sr®Baseir

Which of the following is the most importance cause of animals and plants
being driven to extinction?
a. Over exploitation b. Alien species invasion

c. Habitat loss and fragmentation d. Co-extinctions

all6LMmIG B (GTHLD, SHTAUJ RIS ETHLD )3 BousloTa SIfuHBS &@1p
CaETHSHBLILLLUBBIEL 61% (PSS SHTFeId?

a. Wewsd LweTLIT®H b. 9uied BTG Bemiser 2 eTGemBmLD

C. aumPLb SPGB SH60 d. @ewewr wyuBm GUTHEL

The species confined to a particular region and not found elsewhere is
termed as:

a. Alien b. Endemic c. Rare d. Keystone

@ FBplend em @EIILILL ugdHuled wLEGOGw STeul( BB G HiG66e0
ST ILIL 1606D60 6THIMTE0 SiF)

a. 9uev Band b, gfiLsy g1y c. ofsTasl d. (wédwirens)

Maximum nutritional diversity is found in the group

a. Fungi b. Animalia c. Monera d. Plantae
Leiteupld 61b®H G(palled 261’ L FHHI LILUMBHHEEND DIFHHD 2 _6T6NG!.
a. L6hena HeiT b. alevmigasel c. Qumeiym d. sreugmisel

Biodiversity Act of India was passed by the parliament in the year ___

a. 1992 b. 1996 c. 2000 d. 2002

o uiflw vedeumBSHHeTND LTHSTULF FLULID SHHW LUTITEHLOGIBHSH 6hHD
60(H  HleBCeuBBLILIL L ).

a. 1992 b. 1996 c. 2000 d. 2002
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20.

21.

22.

23.

5l1Pase

Select the correct statement about biodiversity

a. Large scale planting of Bt cotton has no adverse effect on biodiversity.

b. Western Ghats have a very high degree of species richness and
endemism.

c. Conservation of biodiversity is just a fad pursued by the developed
countries.

d. The desert areas of Rajasthan and Gujarat have a very high level of
desert animal species as well as numerous rare animals.
o ufiflw ueLeumSBSH Hettenioenwl UBMIW FHWTET FnByml 6157

a. s oIHs  ugluemaled  wulflioud L Bt umsHwred 2 ulflw
LIGOGUNSBHHATMLSHE 61hGH LTSHIILD E60Den6v.

b. Gubg OFHTLTFS wemevuled FBpflebiseT wBHmID fLF gy  Hbemiser
SIFles Sjenaled et ILIBHEI6T36.

C. 2 ulflw L6LAIMSBHHEMID LITHISTLIL] 616TLSHI aUeTTHSH BTHH660 STewrlILIBLD
b UBD-

d. @yrmebaTeT WBEBID GHEPTSH LOMHEVRIBEND 266  LITeneVaaIhIE6TIe OIS
Slenailevment LIT6m6V b6V ail6LMIG B GIHLD, SIflSest al6VMIFH) B GTHLD
STILILIBGEBSI.

Which of the following is not used for ex situ plant conservation?
a. Field gene banks b. Seed banks

c. Shifting cultivation d. Botanical gardens
Gloev Geuerdl uTgsTiIded (ex-situ) e1g LWSTUBGSHSLILIGAISHOMED?

a. Hlev DJUIGWI  GUHBISBISHET b. alens eumidselt

C. ®L1b ommid Geuenmerientop d. smeuyll UBIETSB6i

Which of the following National Parks is home to the famous musk deer or
hangal?

a. Bandhavgarh National Park, Madhya Pradesh

b. Eaglenest Wildlife Sanctuary, Arunachal Pradesh

c. Dachigam National Park, Jammu & Kashmir

d. Keibul Lamjao National Park, Manipur

Q1135 Gxdlwi LLBISToUTE S &HerOGH LT 681H 611 60T GSlQUNHLUIL 6TeoTm
SIMPSHBLILGSBSHI?

a. upbseunt BGapflw ymsr — wHIHw LFCsHgbd

b. gdedafenl eauaialevnid Fremmeowid - SmHeMFFe LIFCHFID

C. QL&aaMD Chdw Ymer — by STRLOT

d. Qsuiged GeulbBym BHdul HIBT — LDEwALILT

Right to Clean Water is a fundamental right, under the Indian Constitution
a. Article 12 b. Article 21 c. Article 31 d. Article 41
‘sgsoner  GYBHTI QUBIHEL ele@iLB BH  Sgliueml o flenww, B& ShHu
SIrFwevenoliied ebHLll Lflalled oiLmidSlujeiTengl?

a. fley 12 b. UMy 21 c. Ufley 31 d. ey 41
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24.

25.

26.

27.

28.

6lPase

With which of the following, the Agenda 21" of Rio Summit, 1992 is related
to?

a. Sustainable development

b. Combating the consequences of population

c. Mitigation norms of Green House Gases (GHGs) emission.

d. Technology transfer mechanism to developing countries for ‘clean-
energy’ production.

1992-60  pLBS HGum o FH  ompILgEr  “GFweOSH LD 217 eSHenIL 6ol
OBTLTLemL WGHI?

a. [HleNEOWITEN 6U6NITES]

b. weHeMOBTMHI  OUBHBBHH@ML  GBUBL  eleveTadamer  HTHHIL
GumymBHeugl.

C. UgGemID Be06v UMW S &6 GeualiLT WL (GHMBHESID alg(LPenmEs6iT.

d. sHs0TEr  YBBEIGETH,  QIENIHD  BIBHBEHEHEG — CHTEOHI LIkIBmEr
LIMLOTBM3ISHE0.

The “thickness’ of Stratospheric Ozone layer is measured in/on:

a. Sieverts units b. Dobson units c. Melson units d. Beaufort Scale
ool Gyl GLmerotlwiflesr gBameit SIBSHHleT Hlgoene Sieailll  LILIGTLIHIS)

a. enfeuT e OIVS (SU) b. Lmiever o (DU)

C. GOFST OIS d. 15°.Gunm’ 9jeeyGsmev.

Which among the following is the most abundant Green-House-Gas (GHG)
in the earth’s atmosphere?
a. Carbon dioxide b. Water Vapour

c. Sulphur Dioxide d. Tropospheric Ozone

yilulesr  eaueflioemi_eusdHe0 10d OIHHIOTHS STETILUBD  LUSGHMID  &6060  6UTU|
oI1?

a. HTU6T-emL -y Hemen[H b. Byma

C. F6ULIT 6D SLbemerv(h d. L GymBumerbQuflé eBamest

As per 2017 statistics, the highest per capita emitter of Carbon dioxide in
the world is

a. USA b. China c. Qatar  d. Saudi Arabia

20178410 Sewnigest  LieiTell  alauglilg 2 0% SleNalled  HTTLIN-6DL - SLEH66Y0ML
e 9IHaons GeueluiBd BTH 6157

a. 9I6MHaT b. Seorr c. a1  d. Feaud oGy iwm

The use of microorganism metabolism to remove pollutants such as oil
spills in the water bodies is known as
a. Biomagnification b. Bioremediation

c. Biomethanation d. Bioreduction
BT HeMevdelled o 6ilem  elewiGell SFlayspel Gurep IFLTHSHMET DISHMBH
mlewiamiuliTeeller euenTdlengs LOTHBBSHSH e LIWSILBSHHID (LPens.
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29.

30.

31.

32.
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a. o uiflw o mHUeLIHGSSLD b. o uiflwg ey
c. 2 ulfw 185Cxheamebasid d. o uiflw &mobsib.

The Ozone Day is observed every year on September 16 as on this day in
1987 the was signed for launching efforts to arrest the depletion of
the fragile ozone layer in the stratosphere that prevents the harmful ultra-
violet rays of the sun from reaching the earth. Fill the correct word in
blank.

a. Montreal Protocol b. Geneva Protocol

c. Kyoto Protocol d. Nagoya Protocol

GMwelell(hhah WOSHEG umD SHEG aumulbd UB 2aHTsH SHHTHmen HbHHGLW
el Gy BLmerollwit  oibdbdled o siten  @Gamet LLeVSHDHT FmFHmeud HbhdHd
© | aiilgdhend 198710 oLewih  MSOWWSSHIL LU L F. B\ 601
SQUILIMLUTEY  elbleum(h Spewihd  OglbuT 16 GCxhgl @bgmer FHeors
SIaIFNSSLILBHBSI.

a. omer_fluied 2 L ilgdHend b. Gxaieur o L aiLigdHmae

Cc. HOwT BGLT o L eigHms d. p8sTWT 2 I 6igHmab

Which among the following always decreases in a Food chain across tropic
levels?

a. Number b. Accumulated chemicals c. Energy  d. Force
LNevTau(hHeueTeuBmled 615 2 _6wia|FFmISeVHeMer 261 L HleneudeneT &L d@ELTSH
IGUTHILD GHOBH GBI ?

a. eTeuiTenflemd b. GeugdliQummei c. aypmed d. alews

Nitrogen oxide and hydrocarbons released by automobiles interact to form.

a. CO b. SO, c. PAN d. Aerosols
&1iTdelel(BbdH CeuailiLBlD mbBLJMer iHmerv(h LOBBID el GFT  HTTLIETS6NT
Bemenih Hl 6TeNSH 2 (HaUTSHGHHBH!?

a. anuet Guremasama®h (CO) b. Feoum ewL sHEamerd (SO»)

c. Quprsd ofemied ewpl Gy (PAN) d. yemsdasi

Biological oxygen demand measures

a. Industrial pollution

b. Air pollution

c. Pollution capacity of effluents

d. Dissolved O; needed by microbes to decompose waste

o uliflw o Heimer Cohmer semd Slenailh OCFUISBSI,

a. GemoiBameneoulsd GgMBUBLD LOTEHLIBHHEN6D

b. s1BBI WTHLGHE6L

C. &1le] mHilemed gBUGBD LOTHLIBSHmED

d. sfeasmenr fAwzasad HewanuilNsenddd CHemeULITERT &LHenegenet




33. Which of the following on inhalation dissolves in the blood hemoglobin
more rapidly than oxygen?
a. Sulphur dioxide b. Ozone

c. Carbon monoxide d. Nitrous oxide

&0 OHTBeHsILLL abhd Caudlll OQummenTengd BTD cpFmg 2 6T8em G (PHELD
Cungl spbenigemen el DiHe Senaled QIHHHHD HeVEHS TB60T?

a. FeoLT enL SLHmer(® b. @Gameir

C. &miuet Gomenmdenero(h d. ewpLged SuHmen®

34. Gas leaked in Bhopal tragedy was
a. Potassium isothiocynate b. Sodium isothiocynate
c. Ethyl isothiocynate d. Methyl isocynate
Gumumed Game Misaled OCeueMGWIBBLILILL 6utu 61&?
a. QumLrdlub mGsm sBwrensuwiGer b. Gzmgunb @mGBar FHBWITenFWIGeH
c. a1dhFle0 :Bam FHIBwimenguwIGeo d. Gusded @mBarguIBen

35.  Acid rain is caused by increase in the atmospheric concentration of
a. Ozone and dust b. SO, and NO;
c. SO; and CO d. CO; and CO
SIO60 1ML 6UTIDETIL 60HFH60 IHIML Ul OFBle] SIFHBLOTUHTED GBLBHMBSHI?
a. @Cgmer LOBMILD HIH6ITSH6N
b. FeouT ewL SuEME(B WBXBID MBLTEO SLHm6r(h
C. gooUT Leny Spdbener(® LmmID &iiTuer Gomemdenero(h
d. sniuer oL dbamer® BBID SHTTL6ET GomeTTa:amern®

36. Maximum deposition of DDT will occur in

a. Phytoplankton b. Crab

c. Eel d. Sea gull

e oiFsligunear DDT ugen edled gmuBGHmal?
a. 055G SHTaUIBIBET60 b. mewiGseied
C. alevmIGH660 d. &sL6d uBem6

37. Disease caused by eating fish inhabiting mercury contaminated water is

a. Bright’s disease b. Minimata disease

c. Hashimoto disease d. Osteosclerosis

UTSHTFID Blewmhsd Hifled auTIpD Leiidemen o emiamialsTed gBuUGL Grrul 61gh?
a. Wenyll Gmmul b. WerGui Lr Gyl

c. GamdGwm G Grul d. eetGuimerbalelBymenierd

38. A specific place in an ecosystem, where an organism lives and performs its
functions is
a. habitat b. niche c. landscape d. biome
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o ulfleord e GUUILL SLHFH60 DdWhHd High  Lenlulenend

QFWOLIBHSHHID GHHmevs CHTGLIL

a.

el eumfLib b, QFwed eumPLib c. BHevsBsmmmid  d. 2 _uflmob

39. The acceptable definition of ecology was given by

a. Odum b. Reiter c. Ernst Haeckel d. R. Misra
GLoBleneoulied 616 GFTeLmeL  (LPETOILDTIHIHSHEIIT.

a.

QL LD b. QpuiLf c. CamsH0i®ed d. eroym

40. The transition zone between two ecosystems, are

a. Ecotype b. Ecotone c. Ecological pyramids d. Niche
Beni(h GHlP6D LDEITL 60MIBETHEHDIML Gl SHTeRTLILGBID DRI VLD EFHIQUTEGLD.

a.

aflerfiLbLy b. BeLHemev C. SlQLILIENL d. GpimHensv

41. Homeostasis is

a.

b.

C.

d.

Tendency of biological system to change in environment.
Tendency of biological system to resist change.
Disturbance of self-regulatory system and natural controls.
Biotic materials used in homeopathic medicines.

GammilGuimerdL Flerd  eTelILIBoUS

an o

GLp6Vl6L  OTMIISBHTET 2 UTfoewT 605361 FHeTenLn
LOTBBHMSHSH HTRIGLD 2 ulifloewiL sushHer HeirenL
GWaL BUUTHLD SuiBensulmer &L GUUTHLD LTSHSaLLBEH60

. CammoGwrug) WwHmHSHIGHH 60 LWETUGSSLILBLD 2 ulheiTen GUT(HL &6l

42. Significance of food web/is are
a. It does not maintain stability in nature

b.

It shows patterns of energy transfer

c. It explains species interaction

d.

b and ¢

© 6wieY] 6UEMeVUTE (LpSHBIWISHSHIeID?
a. B3 BuBmaule FHMEVMU HHH MAULILISHEL6V.

b.

C.

d.

Bz Bpev LflirBpmisemen GeuaNiLGSHHS MBS
FBplemiseEpsslen. B Hlawd Sl almenmel alend@H Bl
b wBmib ¢

43. Which of the following is not a sedimentary cycle
a. Nitrogen cycle b. Phosphorous cycle

c. Sulphur cycle d. Calcium cycle
S1DHENILQUBMIGT 61FH LIQLD SLOBEFUIe06V.

a.
C.

9| Pase

Bl T&T SHIpMS b. umerbuyerd gHpmd]
FeoUT aIpBd] d. sreodlwid FoBd

APPOLO STUNY CENTRE PH: N44-24339436. 47867555, 9840776187




44.

45.

46.

47.

101 Pooce APPOLO STHOY CENTRE PH: "44-24335435 42852555 q984072R187

___refers to the position of an organism in the food chain.

a. Productivity b. Trophic level

c. Pyramid of number d. Energy flow

o quieyF gmdleluled o ulfleamise SDWHHHESGD BLHmsd GBuucCsH
G LD.

a. 2 _MusHHsH FHmes b. gar” Lo L1b

C. elewiamNbenad LNl d. suBmed @ LD

An example for second law of thermodynamics.

a. Food Chain b. Ten percent law

c. Two percent law d. Twenty percent law
Coulin Quissalwiedsa @FewiLmbd algh _ eleia b HmPSSILIGS MBS
a. o a6y FHId 60 b. usa alwsstd ald

C. Orewi® alpdhaTH ol d. ®mus alipssth ald

Ecological pyramid was introduced by

a. Charles Elton b. Lindenn
c. Odum d. Warming
Glwed LITOL seim __ eTatLoupmed SIMl(pSLILBSHSUILL LS.
a. FiT6Verd  6T6VL_ 63T b. 60lei1@L_651
C. @LID d. e
Match the following
A. Pyramid of number 1. Always upright
B. Pyramid of biomass 2. Upright, spindle, inverted
C. Pyramid of energy 3. Upright, inverted
A B C
a. 1 2 3
b. 3 1 2
C. 2 3 1
d 2 1 3
QUT(HSHHIS.
A. cremtemildbens Lol 1. e1QuTIp&ID Ghiymeot
B. o _ulfig&yer Lol 2. Crymer, sH e OBBID HMELBLD
C. ouBmed Lyl 3. Gmymer, HeWeLSHID
A B C
a. 1 2 3
b. 3 1 2
C. 2 3 1
d 2 1 3




48. Find the correct pair
a. Littoral zone - Deeper region of a pond
b. Limnetic zone - Closest to shallow water
c. Profundal zone - Shallow region of a pond
d. Benthic zone - Bottom zone of a pond
gflwnenr Qenewienwl CHTHOHG.
a. LBLmyed UGH — GHI T LG UGHD
b. a0ibGengs LGH — HHICWTT UG DIHB6L
C. UGym. .ueiLed u@dH — GendHHlenr sy LGS
d. Queds uGH - GNHAST DGLILIGHS)

49. Niche overlap indicates
a. Active co-operation between two species
b. Two different parasites on the same host.
c. Sharing of one or more resources between the two species
d. Mutualism between two species
Cawed eumfPLd Hupalulmliug &Flgs ST (Heudl
a. & FpPemseErsdlen G CFweduBLD Fnl (BHBey.
b. @8y @uwyuifuled Brewi® L BewTenlBeT STILILIGISEI.
C. &m IpPamasEnsHmLBu Q@B DILLGHI  LID  QUETHRIGMET  LISITHSI
OsmeiTeug.
d. 8m Fbleamisersdm G 2 sien QEEIGUIN aITDEHMmE (LPeMD.

50.  Which ecosystem has the maximum biomass?

a. Grassland ecosystem b. Pond ecosystem

c. Lake ecosystem d. Forest ecosystem

6hS® @LDEVLDEWIL 601D SIFSLIguimes o ulflg dHyevend CoTemi(Beieng)?
a. LeoGeuarl @LpeOLDGRIL VLD b. &en&@EHIp60 DG 6VLD
C. gl @LPEOLDGRTL 60D d. QueIsF GlPEOLDGRIL GULD
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